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HkkSfrd foKku
Physics

(312)

f'k{kd vafdr ewY;kadu&i=k

Tutor Marked Assignment

dqy vad % 20

Max.Marks: 20

fVIi.kh % (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) mÙkj iqfLrdk ds izFke i`"B ij viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k; Li"V

'kCnksa eas fyf[k,A

Write your name, enrollment numbers, AI name and subject on the first page of the

answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) nks Lofj=k f}Hkqt (V~;wfuax dkaVs) A vkSj B] 10 dEiu (chV) çfr lsdaM dk mRiknu djrs gSaA B ds

,d 'kwy esa ,d NksVh vaxwBh Mkyus ij fiQj ls 10 dEiu (chV) çfr lsdaM dk mRiknu gksrk gSA vaxwBh

Mkyus ls igys B dh vko`fÙk D;k Fkh ;fn vc B dh vko`fÙk 430 gVZ~t gS\ vius mÙkj ds fy, dkj.k

nsaA (ikB & 13 ns[ksa)

Two tuning forks A and B produce 10 beats per second. On loading a small ring on one

prong of B again 10 beats per second are produced. What was the frequency of B before

loading small ring if now frequency of B is 430 Hz? Give reason for your answer.

(See Lesson 13)

(b) fdu ifjfLFkfr;ksa esa çfrcy dks Hkatd çfrcy dgk tkrk gS\ ;fn 100 fdyksxzke dk Hkkj 1-0 eh- dh

yackbZ ds rkj ij fuyafcr fd;k tkrk gS] rks rkj 0-20 lseh rd c<+ tkrk gSA rkj ds vuqçLFk {ks=kiQy

dh x.kuk djsa ;fn rU;rk {kerk 9-8 × 107 Nm&2 gS vkSj rkj esa foÑfr dks Kkr dhft;sA  fn;k x;k

gS& g = 9.8ms–2 (ikB & 8 ns[ksa)
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Under what conditions, a stress is known as breaking stress? A load of 100 kg is suspended

by a wire of length 1.0m. The wire is stretched by 0.20 cm. Calculate its cross sectional

area if tensile strength is 9.8 × 107 Nm&2. Find strain in the wire. Given, g = 9.8 ms–2.

(See Lesson 8)

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) fdl xgjkbZ ij g dk eku i`Foh dh lrg ij g ds eku dk 75% gks tk;sxk\ D;k ÅapkbZ ds lkFk

Hkh bldk eku ifjofrZr gksxk\ (ikB & 5 ns[ksa)

At what depth would the value of g be 75% of what it is on the surface of the earth? Does

it change with height too?  (See Lesson 5)

(b) ;fn xksyh {kSfrt ds lkFk 30º dk dks.k cukrs gq, çkjafHkd osx 250 ms&1 ls pykbZ tk;s rks xksyh canwd

ls fdruh nwjh ij tehu ij izgkj djsxh\ (ikB & 4 ns[ksa)

At what distance from the gun the bullet will strike the ground, if a bullet is fired with an

initial velocity 250 ms–1 at an angle of 30º with the horizontal. (See Lesson 4)

3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) eku yhft, fd gekjs ikl ,d lfn'k A vkSj lfn'k C = 12 B gSA lfn'k A × B dh fn'kk lfn'k

C × A dh fn'kk ls dSls lacaf/r gS\ (ikB & 1 ns[ksa)

Suppose we have a vector A and vector C = 12B. How is the direction of vector  A × B

related to the direction of vector C × A.  (See Lesson 1)

(b) 2-0 fdxzk vkSj f=kT;k 20 lseh ds ,d xksys dks blds O;kl ds ifjr% ?kqek;k tkrk gSA bl O;kl ds

ifjr% dks.kh; xfr Kkr djsa ;fn dks.kh; laosx 0-2 kgm2s–1 gSA (ikB & 7 ns[ksa)

A uniform circular disc of mass 2.0 kg and radius 20 cm is rotated about one of its

diameters. Find angular speed about this diameter if angular momentum is 0.2 kgm2s–1.

(See Lesson 7)

4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.
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(a) leku oØrk dsaæ okys vory niZ.kksa ds fy, vkjs[k [khpsa ftudh f=kT;k 5 lseh] 7 lseh vkSj 10 lseh
gSA çR;sd niZ.k ds fy, iQksdl nwjh dh x.kuk djsaA eq[; v{k ds lekukarj ,d fdj.k vkjs[k vkSj
çR;sd niZ.k ds fy, ijkofrZr fdj.ksa [khapsaA (ikB & 20 ns[ksa)

Draw diagrams for concave mirrors of radii 5cm, 7cm and 10cm with common centre of

curvature. Calculate the focal length for each mirror. Draw a ray parallel to the common

principal axis and draw reflected rays for each mirror. (See Lesson 20)

(b) çdkf'kd ;a=k dh foHksnu {kerk ls vki D;k le>rs gSa\ foHksnu ds fy, jsys dh dlkSVh dks nks
o.kZØeh; js[kkvksa ds fy, mi;qDr vkjs[kksa dh lgk;rk ls le>k,aA (i) lw{en'khZ (ii) nwjchu dh foHksnu
{kerk ds fy, lw=k fyf[k,A     (ikB & 23 ns[ksa)

What is meant by the resolving power of an optical instrument? Drawing suitable diagrams

explain Rayhigh's Criterion for the limit of resolution of two very close spectral lines.

Write formula for the resolving power of (i) Microscope (ii) Telescope.

 (See Lesson 23)

5- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) rjax nSè;Z ls vki D;k le>rs gSa\ varfj{k esa 10 ehVj çlkj dh rjax nSè;Z okyh jsfM;ks rjax dh vko`fÙk

vkSj vkorZdky dh x.kuk dhft;sA (ikB & 30 ns[ksa)

What you understand by the term Wavelength. Calculate the Frequency and Time Period

of a radio wave having its wavelength of 10m propagating in space. (See Lesson 30)

(b) ;fn vki vkSj vkidk nksLr lM+d ij lkbfdy pyk jgs gSa] rks vki ns[ksaxs fd vyx&vyx le; ij

nksuksa lkbfdy vyx&vyx nwjh ij gSaA çR;sd ds fy, ikap le; varjky ij ikap fLFkfr;ka uksV djsaA

If you and your friend ride a bicycle on the road, you will notice that at different times the

both bicycle are found at different positions. Note down five positions at five time intervals

for each.

(i) ,d leku xfr ds fy, fLFkfr & le; xzkiQ n'kkZb,

Plot Position Time Graph for Uniform Motion

(ii) vleku xfr ds fy, fLFkfr & le; xzkiQ n'kkZb, (ikB & 2 ns[ksa)

Plot Position Time Graph for Non Uniform Motion (See Lesson 2)
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6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below:

(a) ,d gh /krq dh nks IysVsa A vkSj B yhft;sA A dh lrg dks dkys jax ls vkSj B dh lrg dks liQsn

jax ls ikWfy'k djsaA ,d fo|qr ghVj yhft;s vkSj ÅèokZ/kj (yac:i) LVSaM ij dkyh lrg okyh IysV
vkSj liQsn lrg okyh IysV dks ghVj ds lkeus bl rjg ls j[ksa fd dkyh lrg okyh IysV vkSj liQsn
lrg okyh IysV ghVj ds lkeus gksaA lqfuf'pr djsa fd ikWfy'k dh xbZ IysVsa ghVj ls leku nwjh ij gksaA
IysVksa ds fcuk ikWfy'k okys Hkkx (fiNyk Hkkx) ij ekse dh lgk;rk ls ,d&,d dkWdZ yxk,aA
voyksdu djds fVIi.kh djsa fd dkSu lh lrg Å"ek fofdj.kksa dks vf/d rsth ls vo'kksf"kr djsxh]
liQsn lrg ;k dkyh lrgA (ikB & 12 ns[ksa)

Take two plates A and B of same metal. Polish surface of A with black colour and surface

of B with white colour. Take one electric heater and put polished black plate and white

plate on vertical stand in such a way that polished black plate and white plate face the

heater. Ensure that polished plates are equidistant from the heater. Fix one cork each with

wax on the uncoated sides (back side) of the plates. Observe and comment which surface

absorbs heat radiations more quickly; Black Plate Surface or White Plate Surface.

(See Lesson 12)

(b) iRFkj dk ,d NksVk VqdM+k ysa vkSj bls /kxs ds ,d Nksj ij ck¡/ nsaA viuh maxfy;ksa ds lkFk nwljs Nksj
dks idM+sa vkSj fiQj ,d {kSfrt ;k ÅèokZ/j xksykdkj iFk esa iRFkj dks (tSlk fd fp=k esa fn[kk;k x;k
gS) ?kqek,aA ?kw.kZu dh NksVh xfr ds lkFk 'kq: djsa vkSj bls /hjs&/hjs c<+k,aA voyksdu djds fVIi.kh
djsa&

Take a small piece of stone and tie it to one end of a string. Hold the other end with your

fingers and then try to whirl the stone in a horizontal or vertical circular path. Start with a

small speed of rotation and increase it gradually. Observe and Comment –
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(a) tc iRFkj ?kwe jgk gS rks D;k vkidks vkidh maxfyvksa esa dksbZ f[kapko eglwl gksrk gS\

Do you feel any pull on your fingers when the stone is whirling?

(b) vxj vpkud ls /kxk VwV tk, rks iRFkj ds jkLrs dk voyksdu djsaA D;k ;g mlh xksykdkj
iFk esa pyrk jgsxk ;k jkLrk cny nsxk\ dkj.kksa ds lkFk vius mRrj dk Li"Vhdj.k djsaA

(ikB & 4 ns[ksa)

Observe the path of stone if the string breaks suddenly. Will it continue to move in

same circular path or will change the path?  Explain your answer with reasons.

(See Lesson 4)


